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ATM 150 - Fall 2003
Name:________________

Problem 4

a. (15 pts) Write a Fortran 90 compatible program that does the following. Print R in the main program where:
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Specify a value of 2. for b and a value of 21 for N in a Module. Evaluate the expression for R in a subroutine. Specify the values of X in the main program, where X varies linearly from X1 = 0. to XN = 1.0.
b. (15 pts) Imagine you are a TA and that a student in your class shows you a paper printout of the F90 program below. The program has errors. An error may span several lines. Find every FORTRAN error, explain WHY it is an error (or likely to be an error) and HOW the error might be corrected. 

MODULE IT

REAL :: PI

PI = ACOS(-1.)

REAL :: A=2.

END MODULE IT

PROGRAM 1_ST_HMWK

USE IT

INTRINSIC NONE

INTEGER :: I,J, N=10

REAL :: A, R(20,10), X, Y, PI

R=0.

DY = 1./FLOAT(N-1) ; Y=0.

FIRST : DO I=1,2*N

X=FLOAT(J-1)/FLOAT(N-1)
! X GOES FROM ZERO TO ONE

SECOND : DO J=2,N

R(I,J)=A*COS(PI*X)+SIN(PI*Y)

Y=Y+DY


! Y GOES FROM ZERO TO ONE

END DO FIRST

CALL SUB(R(I,J),N)

END DO SECOND

STOP

END PROGRAM

SUBROUTINE SUB(F,N)

DIMENSION F(2N,N)

PRINT *,(F(1,J), J=1,N)

END SUB

Due: 29 October 2003 at the start of class.  10% penalty for each weekday late.
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